
0.4 x 1000 = 89.6 x 1000 = 37.55 x 1000 =

8.79 x 1000 = 7 x 1000 = 0.03 x 1000 =

0.053 x 1000 = 41.99 x 1000 = 0.496 x 1000 =

9.1 x 1000 = 0.963 x 1000 = 8.75 x 1000 =

0.1 x 1000 = 0.004 x 1000 = 97.3 x 1000 =

0.06 x 1000 = 0.05 x 1000 = 0.8 x 1000 =

0.01 x 1000 = 7.6 x 1000 = 94.3 x 1000 =

0.08 x 1000 = 6.28 x 1000 = 0.32 x 1000 =

3.95 x 1000 = 58.93 x 1000 = 0.76 x 1000 =

0.004 x 1000 = 37.7 x 1000 = 0.03 x 1000 =

0.02 x 1000 = 6.048 x 1000 = 3 x 1000 =

0.8 x 1000 = 271.2 x 1000 = 5.66 x 1000 =

28.1 x 1000 = 8.2 x 1000 = 56.42 x 1000 =

0.07 x 1000 = 0.928 x 1000 = 7.595 x 1000 =

0.04 x 1000 = 0.9 x 1000 = 9.57 x 1000 =
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0.4 x 1000 = 400 89.6 x 1000 = 89600 37.55 x 1000 = 37550

8.79 x 1000 = 8790 7 x 1000 = 7000 0.03 x 1000 = 30

0.053 x 1000 = 53 41.99 x 1000 = 41990 0.496 x 1000 = 496

9.1 x 1000 = 9100 0.963 x 1000 = 963 8.75 x 1000 = 8750

0.1 x 1000 = 100 0.004 x 1000 = 4 97.3 x 1000 = 97300

0.06 x 1000 = 60 0.05 x 1000 = 50 0.8 x 1000 = 800

0.01 x 1000 = 10 7.6 x 1000 = 7600 94.3 x 1000 = 94300

0.08 x 1000 = 80 6.28 x 1000 = 6280 0.32 x 1000 = 320

3.95 x 1000 = 3950 58.93 x 1000 = 58930 0.76 x 1000 = 760

0.004 x 1000 = 4 37.7 x 1000 = 37700 0.03 x 1000 = 30

0.02 x 1000 = 20 6.048 x 1000 = 6048 3 x 1000 = 3000

0.8 x 1000 = 800 271.2 x 1000 = 271200 5.66 x 1000 = 5660

28.1 x 1000 = 28100 8.2 x 1000 = 8200 56.42 x 1000 = 56420

0.07 x 1000 = 70 0.928 x 1000 = 928 7.595 x 1000 = 7595

0.04 x 1000 = 40 0.9 x 1000 = 900 9.57 x 1000 = 9570
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